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O=MUHHE SteEE=2 80,000m" * 10,000& * 0.015 12,000
202 O4dl 45,600 45,600
01 3L 14,400 14,400
O=MMHHE XNE L FH 20,000& » 3H = 20 = 123 14,400
02 FHHOHI 31,200 31,200
OHAZE 200,000& = 13% = 128 31,200
308 XXX SO0I& 605,000 605,000
05 XXSHH2ARES 605,000 605,000
OMEIHENEAS(T) 250& = 1,210,000m » 23l 605,000
401 AlEHIZ=20Y| 471,880 471,880
01 A&l 469,000 469,000
Q2009 GIE Xl & Al& A HI 10,000,000& = 7IH A 70,000
O=letE=2 B 5,000,000& = 7JH 2 35,000
OCl AR AALS 50,000,000& * 7IH= 350,000
OMNMEANE E= 2,000,000& = 7JH 2 14,000
03 AlZ=0HdI 2,880 2,880
O=TMetE I3, HMEAMNE Al RO 2,880,000& 2,880
402 U2t THE0IHE 12,337,500 12,337,500
02 ClIZtCHEE A I 12,337,500 12,337,500
O=MMF === X2 3,525& * 3,500,000m" 12,337,500
801 dilblbl 7,915,306 7,915,306
01 oliblgl 7,915,306 7,915,306
Ouldlyl 7,915,306,000& 7,915,306




